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PIPELINE ENGINEERING

fuffaamm . 39 [ATtreRan 37 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
A () ¥FH-TFHATEEG g/

Note : There are THREE sections in the paper A, B and C.

(i) QFT-TH 597 &I 1 & G 10 9T & IR 7T | I&F 917 T 376 H1 &
oq G4 10 977 TGS FFR F T F 8 |

Answer all the 10 parts of the question No. 1 in Section A. Each part
carries one mark and all 10 parts have objective type questions.

(iii) QFA- & 8 F99) 7 G 581 6 Fo71 3 I AT | I F97 3 37 FT 8 UG
S7HT 5 ¢l / 50 gl 4 SR & |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QEIT-H 6 Tv71 7 @ 5787 4 3979 & IR AT | I 97 8 31 FT 8 0F
$7%7 15 e / 150 F1eg] 4 3o dfsra |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v)  FIE GHTH & GH I H) FHIR G G1Y 5 BT |
Solve all the questions of a section consecutively together.
(vi) el TTsT 7 3R 517 1 T 7 3t e 8 T 8

Only English version is valid in case of difference in both the languages.

AR - T
Section — A
1. () T=fafea d @ g ga 6 fafie s gatfes gz 2
() Ot (b) A
(c) U (d) e
Which of the following liquids has the highest specific heat ?
(a) Water (b)  Ethanol
(c) Mercury (d) Gasoline
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(i) 9 <1 fafsre ot frat gt @ 2

(a) 1.00J/g°C (b) 2.00J/g°C
(c) 3.00J/ge°C (d) 4.00J/ge°C
What is the specific heat of water ?
(a) 1.00J/g°C (b) 2.00J/g°C
(¢) 3.00J/g°C (d) 4.001J/g°C
(iii) UTZUSATEH % ST SITE ! ATA o T fopd TorR o T o7 SU=im P ST 2 7
(a) ¥R fm (b) T fo
(c) Tadieor fum (d) 3Tk gt
What type of pig is used to measure the internal diameter of pipeline ?
(a) Smart pig (b) Gauging pig
(c) Inspection pig (d) All of the above

(iv) oo 3R 32 4 39Fi i S arel ffti vomet @ @ 2
(a) UTSUSTEI hl ATh H & faw (b)) O o1 Uftas"
(c) UTSYATEI 1 ffeor shea (d) UTSUATSA o a1 hi HH A & fow

What is a pigging system used for in the oil and gas industry ?

(a) To clean pipelines (b) To transport pigs
(¢) To inspect pipelines (d) To reduce pipeline pressure
(v) Tr=ferRaa # & =i | gftspd 3eare 3mdi o e $um % w9 § Swi fpar srar
27
(a) 3ot (b) st de
(c) TEeH (d) e
Which of the following refined products is commonly used as a heating fuel ?
(a) Diesel (b) Kerosene
(c) Gasoline (d) Jet fuel
(vi) UTSUEATSH T GoTE 9ATC W & foru fraferfiga o & 99 o1 ueueisy ges fier
g7
(a) YR (b) R WM
(c) T A (d) TR

Which of the following pipeline components is responsible for maintaining the
pressure in the pipeline ?

(a) Pump stations (b) Compressor stations

(¢) Control valves (d)  Piglaunchers
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(vii) HERT &I Uehl & foTw Jmaa © Freferfiad § & S o ureueizT ifen &1 399m

fepa s 8 7
(a) Ul (b) it
(c) o= (d) 39U geft
Which of the following pipeline coatings is commonly used to prevent
corrosion ?
(a) Epoxy (b) Polyethylene
(c) Zinc (d) All of the above
(viii) T=feiRaa 4 & = ot urguerms Fre yored fema w1 g o aed R 7
(a) THHTET (b) fizmseE
(c) sA-red Frlieqor SueRtor (d) I Gt
Which of the following pipeline monitoring systems can detect leaks ?
(a) SCADA (b) GIS
(¢) In-line Inspection tools (d) All of the above
(ix) 3R Tefig femi o SER deT TsuesHl & fofe siitrerad eama dm w2 2
(@) 500 Psi (b) 1000 Psi
(c) 1500 Psi (d) 2000 Psi

What is the maximum allowable operating pressure for oil pipelines regulated
by the U.S. department of transportation ?

(a) 500 Psi (b) 1000 Psi
(¢) 1500 Psi (d) 2000 Psi
(x) O UTEYeTEHl o fore fafys s dmr e @ ¢

(a) 2-6%9 (b) 8-12%9

(c) 16-245d (d) 30-483=

What is the typical diameter range for oil pipelines ?

(a) 2-6 inches (b) 8-12 inches

(c) 16-24 inches (d) 30-48 inches (1x10)
Qo — ot
Section — B

2. UTEUCTEA o RTBRSE ?
What are the advantages of pipeline ? A3)

3. UTSUSTE fSSTed % Y@ g R 7

What are the key components of a pipeline design ? A3)

P.T.O.
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12.

1:3:

14.

15:

2000 et St TS 9ol TEH qrEgerE, 0.5 et i ™ 3N 0.2 U & dTed §¢ B
1 T TSI ISTA 1 A HLdl 8 5 dled 5 211 8 | TI3UeTsd § 394 g aret
FAfendd gst IR i o1 HIfT |

A pipeline with a length of 2000 metres, a diameter of 0.5 metres and a valve closure
time of 0.2 seconds experiences a hydraulic surge when the valve is closed. Calculate

the maximum surge pressure that will be generated in the pipeline. A3
FeAR a2 7
What is Caliper pig ? A3
e = ?
What is Sag ? 3
FUAT UTSUCATST H AR TR R YT 3hT &0 91T ST & 7
What types of corrosion are typically found in offshore pipelines ? 3)
WA Tfm 6t s fifw |
Explain Station spacing. A3
AT H IFRFE ?
What are the types of welding ? 3)
Qe — dt
Section — C
UTSYCITS JOTTeAT <hT 3899 1 B 7 TASTST |
What is the objective of pipeline system ? Explain. )
T A= 3 fimr et s/ 2 2 memse
What is pig launcher and pig receiver ? Explain. 3
e 3Tk TgsR 1 =re Hif |
Explain stinger and riser. (8)
AT UTSUATEHT & Y o &R § ==t Fhifdu |
Discuss about the types of offshore pipelines. 3
YA ITEUeTEH fSaims | Iuan ) S areft fopeht weh denier W ==t i |
Discuss any one technique used in offshore pipelines design. 8)
Fonfses gran fafty =t aagmsv |

Explain cathodic protection method. 8




